Mansoura University First Term Exam (January 2009)

Faculty of Science First year (Geophysics program)
Subject: Geol-101
Gunlogy Peparnent Course: Historical and Physical Geology

Date: 12/1/2009 Time: 2 hours Full Mark: 60
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First Term Exam (January 2009)
First Year (Chemistry program)

Mansoura University
Faculty of Science

] : ) Subject: G —=102
Geology Department “9;;; 1 Course: Crystallography and Mineralogy
Date: 12/1/2009 iyt Time: 2 hours Full Mark: 60

Answer the following questions (lllustrate with drawing as possible): (15 marks for each)

Question One: Complete the following: {write only the number and words} (15 marks)
- The crystallographic axes are four-fold symmetry in ...(1)... system, while they are of two-fold
symmetry in ...(2)... system.

- Quartz of ...(3)... chemical composition, characterizes by hardness ...(4)... and ...(5)...
cleavage.

- The most abundant sub-metallic elements in the Earth's crust is ...{6)...that forms minerals
such as ...(7)... that have lowest hardness.

- Pinacoids are the only that form in ...(8)... system that have only ....(9).... of symmetry.

- Corundum of hardness ...(10)... contains some impurities such as ...(11)... to form sapphire.
- Graphite exhibits ...(12)... cleavage due to its containing ...(13)... chemical bonding.

- The minimum and maximum faces in a crystal form occurs in ...(14)..., and ...(15)...,

respectively.

Question Two: Choose the correct answer (give the number and letter only): (15 marks)
1- In the hexagonal system, the -angle is equal
a) 90° b) 120° c) 60° d) 180°
2- The heaviest non-metallic mineral is:
a) Halite b) Barite c) Gypsum d) Quartz
3- The highest hardness characterizes
a) Pyrite b) Gold c) Diamond d) pyrolusite
4- Mineral separation is based on physical properties such as
a) Habit and streak b) hardness and tenacity c) Luster and color  d) Magnetism & S. Gr.
5- Sulphurous odor and black streak are characterized
a) sulphur b} Apatite c) pyrite d) hematite
6- The brown streak could be used to differentiate between
a) pyrolusite and galena b) chromite and magnetite c) pyrite and galena  d) magnetite & ilmenite
7- Coal and amber are not related to minerals because they are
a- Organic materials b) Solid c) crystalline d) natural
8- Domes characterize the
a) Orthorhombic system b) tetragonal system c) Triclinic system d} Cubic system
9- The axial ratio is referred to the length of crystallographic axes in relative to the length of
a) a-axi c) c-axi c) h-axi d) as-axi
10- Hexatetrahedron crystal form of Miller index

a) (321) b) (210) c) (110) d) (211)




Question three: Compare briefly between three of the following pairs: (15 marks)
1- Gold and pyrite minerals
2- Symmetry in Cubic and orthorhombic systems
3- Crystal forms in Hexagonal and tetragonal systems

4- Hardness and luster in minerals

Question Four: Stick with (V) or (X) for the following sentences and correct the false ward:
(15 marks)

1- Perfect basal cleavage is characterized muscovite mineral that used as electrical insulator.
2- Smoky colour in quartz attributes to Mn-impurities.

3- Hemi-crystal forms in orthorhombic system are related to inclination of a-axi.

4- The highest crystal symmetry and characterizes the cubic system.

5- The best mineral classification is based on cationic radical.

6- Ferromagnetic and heavy specific gravity characterizes the magnetite mineral.

7- Crystals are classified on the basis of their symmetry into 6 systems.

8- All the crystal forms of the cubic systems are closed.

9- Pyrolusite of lower hardness is mined in Um Bogma area, southern Sinai.

10- The innermost core is molten and of Fe-Ni composition.
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